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Educational effectiveness
(Section 1.2.1)

Layer 1: Teacher level
Teacher effectiveness

Layer 2: Classroom level
Teaching effectiveness

Layer 3: School level
School effects of teachers as
members of professional
learning

Layer 4: National level
Characteristics of national
education systems

Outcomes/
performance
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Teacher learning (Section 1.2.3)

Career:
Continuous Professional
Development (CPD)

Transition:
Early Career Support
(ECS) and induction

Preparation:
Initial Teacher

Education (ITE)

Challenges related to teacher quali

Classroom level (e.g. Interaction pupils, parents, sensitivity for additional care,
dealing with heterogeneity)

School level (e.g. class-size, teamwork vs. isolation, work load)

Challenges related to teacher quantity

System level (e.g. attractiveness of the profession, number of teachers, funding
available)
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